b

it

* M6 £ 7 A



MILTEEEF(EAMRBEOES B3 IR)AHKIE

162, 569, 000

% # s - BRHE By B il & & 1
BEEIZEE 91, 810, 446
GEEES 9,583,113 + 25,338, 250 34,921,363
£ERHZE GD 145,000 + 8,584,276 + 853,837 9,583,113
#BREE (WL 145,000
HERSRE (X)) 91,810,446 x 9.35% ((7.17% x1.00 +2.00%) x 1.02) 8, 584, 276
REBERER 91,810,446 x 0.93% 853, 837
HSEEE 101,393,559 x 24.99% ((22.66% +1.60%) x 1.03) 25, 338, 250
TERA 91, 810, 446 + 34,921, 363 126, 731, 809
—REEEE 126,731,809 x 16.58% (16.58% x 1.00) — 4,634 21,007, 499
RHRILE 126,731,809 x 0.04% 50, 692
Tl 126,731,809 + 21,007,499 + 50, 692 147,790, 000
B EET 147,790,000 x 10.00% 14,779, 000

FRIEH 147,790,000 + 14,779, 000




BERNRE R T i8R BRI OB 4 (BITK) A TH

4 [ R - BKTE B B = B {f ol ] W=
EHEITSE 91, 810, 446
205 - BhiR - #EE 91, 810, 446
AELT [(7—v K] 91,792, 287
=y UB4ET() 83, 250, 208
JEmE 324,093
1T L= 4 v T8% 427.00 759 324, 093
m2
25 5,171,936
2 MR IEEL 1,734.00 2,563 4,444,242
m2
3 NRIHEL 341.00 2,134 7217, 694
m2
E53:0) 30,521,180
4 Sk ITAEIL D13 50, 024. 00 190 9,504, 560
kg
5 Sk THEIL D16 3,144.00 188 591, 072
kg
6 SkEihn THASL D19 21, 555. 00 188 4,052, 340
kg
7 $mhnTHESL D22 7, 344.00 188 1,380, 672
kg
8 Hm#F #kfnD22 1, 600. 00 5, 000 8,000, 000
AT
9 FHEEHI KEZRFHRE (V) v—) 11.00 1,530 16, 830
ke
10 PHEREIZM 88. 00 18,190 1,600, 720
m2
11 RE&mH - R/A— 120. 00 41,900 5,028, 000
.




RERNRE AT A BRCERBEBAEE (BITR) AHTE

£ g Fg - BRKsTE 4L ¥ = B &= £ =

12 BEkEH - R/ \—HlaL 4,689. 00 74 346, 986
kg

Eil A 20,179, 665

13 SHB R 4E L E S 3,531.00 5, 715 20, 179, 665
m2

avyy—+ 27,053, 334

14 a2 91)—MTE 917.00 29, 502 27,053, 334
m 3

=y BT (2) 5,067,003

=41 20, 493

15 L—2 4 58k 27.00 759 20, 493
m2

25 367, 752

16 SRR IHEEH 126.00 2,563 322, 938
m2

17 NREEL 21.00 2,134 44,814
m2

5337 1,855,998

18 8k THAIL D13 2,949. 00 190 560, 310
kg

19 8k THAIL D16 470.00 188 88, 360
kg

20 $kARINTHASLE D19 1,287.00 188 241, 956
kg

21 gkFRIN TS D22 459.00 188 86, 292
kg

22 W F & /7D22 100. 00 5, 000 500, 000
&R

23 BhHEEA KEZRFIHE (V) v—) 0.80 1,530 1,224
kg




BERNRE R T i8R BRI OB 4 (BITK) A TH

% g B - KT Bifg B B2 ] ® &8 wm =

24 ThEEFIZER 6.00 18,190 109, 140
m2

25 mEKAR - m/AN— 6.00 41,900 251, 400
X

26 mEKAR - M/ N—HHEIL 234.00 74 17,316
kg

itk 1,200, 150

27 SHBBI 4RSI RS 210.00 5,715 1,200, 150
m2

avoy—+r 1,622,610

28 vy )— MTER 55.00 29,502 1,622,610
m3

=y BT Q) 3,415,076

K& 12,903

29 L—T 1 VTR 17.00 759 12,903
m2

Ri5 170, 841

30 SRS RIHE 55.00 2,563 140, 965
m2

31 NEZE 14.00 2,134 29, 876
m2

537 1,318,721

32 $k#hn THAST D13 2,098.00 190 398, 620
kg

33 SkEHMTHAIL D16 142.00 188 26, 696
kg

34 $kFRINTHASL D19 905. 00 188 170, 140
kg

35 SkARINTHASL D22 298.00 188 56, 024
kg




BERNRE R T i8R BRI OB 4 (BITK) A TH

4 [ g - BR-TE BAGL H = i ® B W=
36 #mHF $4%8HD22 65. 00 5, 000 325, 000
&
37 BHEEH KEZRF B (1) v—) 0.50 1,530 765
kg
38 [HERHFIZEH 4.00 18,190 72, 760
m2
39 mEkE - R/N— 6.00 41,900 251, 400
x
40 mEkFR - R/AN—HEIL 234.00 74 17,316
kg
ik eg 851, 535
41 SRR H48 57 4B 4 149.00 5,715 851,535
m2
avo)—+k 1,121,076
42 a9 ) — TR 38. 00 29, 502 1,121,076
m3
MT 18,159
EEY— FE{E 18,159
ith 18,159
43 Eih 148.00 122.17 18, 159
m3
HBERERE FEL) 145, 000
HBRER 145, 000
HBEREZE 145, 000
BitrEEE 145, 000
HirE8 145, 000




BERNRE

NPT EEEF(EREBR)BEOER (B3R AKIE
4% fu R - BikTiE = o = B O{f o % Hm =
4 EIRERE E-AYUTRE 1.00 45,000 45,000
*
45 FERBBAHAE 1.00 100, 000 100, 000
%




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

H5:1
B IL—T 4 TR 100m2%1
£ b3 B - BIKTE =-Fiv] = B i ] w =
W—T 4 U TEEH
m2 100. 00 556. 00 55, 600
PRAZAK
m2 120.00 32.00 3, 840
T &iE
m 3 5.00 3,300. 00 16, 500
& B 1YEZHER : 100.00m 2 759. 00 75, 940
E5:2
%5 A RIEEL 100m2=1
% b R - KT BT 2 B O{f 2 H %
B AR R IGERIL (r— Y VU 8E) yL—tkE
m2 100. 00 2,448.00 244, 800
STFL—2hL—r A AR ER) ChEffE > J&)16tH
H 0.30 38, 400. 00 11,520(8H
& &t EZHEH : 100.00m 2 2,563.00 256, 320
&5 :3
&% ARSI 100m2%HY
% L] g - BIRTiE ==Rivi 2 i %8 g &
AEZE (r—Y D E1E) yL—rtkE
m2 100. 00 2,019.00 201, 900
STFL—29L—r A AR ER) ChEfE > T8 16tH
H 0.30 38, 400. 00 11,520/8H
& it YEZERES : 100.00m 2 2,134.00 213, 420




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&S : 4
B ¥ SkARANTHASI D13 1000k g4V
£ b3 B - BIKTE =-Fiv] = B i ] w =
% (2H) SD345 D13
kg 1,030. 00 107.00 110, 210
BAMIMAL (r— 8k g L—oikE
kg 1, 000. 00 72.80 72, 800
STFL—rbL—r A AR ER) GRS J&) 16tH
H 0.20 38, 400. 00 7,680|8H
& &t YEEHEH :1,000.00k g 190. 00 190, 690
&S :5
2% . $kEFINIT#ESL D16 1000k g4 Y
£ b R - KT BT H = B ff 2 H %
85 (B2H) SD345 D16
kg 1,030. 00 105. 00 108, 150
SAAN TN (r—Y U 8E) yL—tkE
kg 1, 000. 00 72.80 72, 800
STFL—2hL—r A AR ER) ChEffE > J&)16tH
H 0.20 38, 400. 00 7,680|8H
& &t EZEREH :1,000.00k g 188. 00 188, 630
ES:6
£ ST D19 1000k g4 Y
% L] g - BIRTiE ==Rivi #H = i B8 g &
85 (B2H) SD345 D19
k g 1,030. 00 105.00 108, 150
SAAN TN (r—Y U 8E) yL—rtkE
k g 1,000. 00 72.80 72, 800
STFL—29L—r A AR ER) ChEfE > T8 16tH
H 0.20 38, 400. 00 7,680|8H
& it YEZEREN 0 1,000.00k g 188.00 188, 630




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&5:7
B ¥ SAARANTHASL D22 1000k g4V
£ b3 B - BIKTE =-Fiv] = B i ] w =
% (2H) SD345 D22
kg 1,030. 00 105. 00 108, 150
BAMIMAL (r— 8k g L—oikE
kg 1, 000. 00 72.80 72, 800
STFL—rbL—r A AR ER) GRS J&) 16tH
H 0.20 38, 400. 00 7,680|8H
& &t YEEHEH :1,000.00k g 188. 00 188, 630
E5:8
£ BEWAETF  8mD22 1P
£ b R - KT BT H = B ff 2 H %
R F
& 1.00 3, 500. 00 3, 500
MFHET D22
[Elzin 1.00 1, 500. 00 1,500
& it 1E%8EH ;1. 00 FR 5, 000. 00 5,000
E5:9
%5 BhEEFl KHETRFHE (V) v—) kg (1kg)
% L] g - BIRTiE ==Rivi #H = i B8 g &
SkARBR R KEZRFIHE (Vv —)
k g 1.00 1,530. 00 1,530
& it YEZERESN : 1.00kg 1,530. 00 1,530




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&S :10
%5 BhEEFRIER 1B34Y (4m2)
£ [ R - KT B B =2 i £ w =
HEEER
A 0.50 28,910.00 14, 455
LEEXE
A 2.00 23,090. 00 46, 180
MME 2{R0Y%
% 20.00 60, 635. 00 12,127
& B 1E%fEN : 4.00m 2 18, 190. 00 12,762
&5 . 11
& BEkE - BN — 1Rx4Y
% b R - KT B H = i £ H %
REkE - m/A— &
P 1.00 41, 900. 00 41,900
& it 1E%8EH 1. 00K 41, 900. 00 41,900
E5:12
& REkA - B/ 1000k g4V
% b R - KT B H = i £ H %
REkE - m/\—#H AR E50mm~80mmK G Y L— Uk E
k g 1,000. 00 66. 56 66, 560
STFL—29L—r A AR ER) CHE i J&) 16tH
H 0.20 38, 400. 00 7,680|8H
& it YEZEREN 0 1,000.00k g 74.00 74, 240
55 :13
2 SR EMEIL N 100m2%1)
% L] R - KT ==Rivi B = il B8 g &
SRS RBAHTARSY (— Y o BlE) o L—dkE
m2 100. 00 5,562.00 556, 200
STFL—29L—r BHAARER) GhEMiED JTE) 16tH
H 0.40 38, 400. 00 15, 360/8H
= it YE%HEH : 100.00m 2 5,715.00 571, 560




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

BES5:14
. avy)— TR 10m3HyY
% b I - WAKTE B =1 B i ) 5 &
LT4—2HRbavs)—+ 30-12-25
m 3 10. 10 25, 400. 00 256, 540
aAVH)—MTER (G —Y D 8E) Ry JE
m 3 10. 00 3,848.00 38, 480
& it YE%#EH - 10.00m 3 29,502. 00 295, 020
EES .15
& I—T 4 VT 100m2HY
4 b & - WIRTE Bf1 = B i ) s &
W=D 4 U TEER
m2 100. 00 556. 00 55, 600
B AR AR
m2 120. 00 32.00 3,840
b &
m 3 5.00 3, 300. 00 16, 500
& B YEZERES : 100.00m 2 759. 00 75, 940
EES .16
2 HESEREEL 100m24Y)
% b R - WAIRTE B = B i 25 " &
ME P RIS (r— Y U EE) Y L—UiRE
m 2 100. 00 2, 448. 00 244, 800
ST7TL—r9L—r HEEARRER) ChIE s> J8) 16tH
A 0.30 38, 400. 00 11, 520/8H
& &t YE%#E7 : 100.00m 2 2,563. 00 256, 320




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&B5 17
2% AEBE 100m2 %Y
£ b3 B - BIKTE =-Fiv] = B i ] w =
NRBISEI (5— D 8E) g L—oikE
m2 100. 00 2,019.00 201, 900
STFL—rbL—r A AR ER) GRS J&) 16tH
H 0.30 38, 400. 00 11,520(8H
& Hi YEZERESN : 100.00m 2 2,134.00 213, 420
EES 18
&% $kEFINIT#EST D13 1000k g Y
% b R - KT BT H = B O{f 2 H %
85 (B2H) SD345 D13
kg 1,030. 00 107.00 110, 210
SAAN TN (r—Y U 8E) yL—tkE
kg 1, 000. 00 72.80 72, 800
STFL—2hL—r A AR ER) ChEffE > J&)16tH
H 0.20 38, 400. 00 7,680|8H
& &t EZEREH :1,000.00k g 190. 00 190, 690
ES 19
£% : SEMIML D16 1000k g4 Y
% L] g - BIRTiE ==Rivi #H = i B8 g &
85 (B2H) SD345 D16
k g 1,030. 00 105.00 108, 150
SAAN TN (r—Y U 8E) yL—rtkE
k g 1,000. 00 72.80 72, 800
STFL—29L—r A AR ER) ChEfE > T8 16tH
H 0.20 38, 400. 00 7,680|8H
& it YEZEREN 0 1,000.00k g 188.00 188, 630




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

E5:2
2% SkARANTHASI D19 1000k g4V
£ b3 B - BIKTE =-Fiv] = B i ] w =
% (2H) SD345 D19
kg ,030. 00 105. 00 108, 150
BAMIMAL (r— 8k g L—oikE
kg ,000. 00 72.80 72, 800
STFL—rbL—r A AR ER) GRS J&) 16tH
H 0.20 38, 400. 00 7,680|8H
& &t YEEHEH :1,000.00k g 188. 00 188, 630
ES 21
2% $kEFINIT#EST D22 1000k g4 Y
£ b R - KT BT 2 B ff 2 H %
85 (B2H) SD345 D22
kg ,030. 00 105. 00 108, 150
SAAN TN (r—Y U 8E) yL—tkE
kg ,000. 00 72.80 72, 800
STFL—2hL—r A AR ER) ChEffE > J&)16tH
H 0.20 38, 400. 00 7,680|8H
& &t EZEREH :1,000.00k g 188. 00 188, 630
55 :22
2% BT 8mmd22 18/
% L] g - BIRTiE ==Rivi 2 i %8 g &
R F
1& 1.00 3, 500. 00 3,500
MFHET D22
AT 1.00 1,500. 00 1,500
& it YEEREN 1. 00 FR 5,000. 00 5,000




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&5 .23
B R KMEIRFIUHE (V) kg (1kg)
£ [ R - KT B = i £ w =
sk BREER KEZRFIHE (Vv —)
kg 1.00 1, 530. 00 1,530
& &t 1YEZRES : 1.00kg 1, 530. 00 1,530
ES5:24
¥ BhEEFIER 1B&Y (4m2)
2 b R - KT B = i £ H %
HEER
A 0.50 28, 910. 00 14, 455
LEEXE
A 2.00 23, 090. 00 46, 180
MM EJZ 0N
% 20. 00 60, 635. 00 12,127
& B %47 : 4.00m 2 18, 190. 00 72,762
&5 :25
2% BEkER - BN— 1Rx5Y
2 b R - KT B = i £ H %
REkE - m/A— &
X 1.00 41, 900. 00 41,900
& it 1E%8EN 1. 00K 41, 900. 00 41,900
55 :26
2 REkE - B/A—HEIL 1000k g 24 Y
% L] R - KT B = il B8 g &
REkE - m/\—#H AR E50mm~ 80mmKE Y L— IR E
k g ,000. 00 66. 56 66, 560
STFL—29L—r BHAARER) GhEMiED JTE) 16tH
=] 0.20 38, 400. 00 7,680|8H
& it {EZ%8EH : 1,000.00k g 74. 00 74, 240




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&5 :21
275 SR BRAAI AN 100m2 %Y
£ b3 B - BIKTE =-Fiv] = B i ] w =
BRI AN HRS (5 — Y D ElE) g L—oikE
m2 100. 00 5,562.00 556, 200
STFL—rbL—r A AR ER) GRS J&) 16tH
H 0.40 38, 400. 00 15, 360|8H
& &t EZEEA : 100. 00m 2 5, 715. 00 571, 560
E =
&¥ a0 )—MTR 10m3HY
% b R - KT BT 2 B O{f 2 H %
LF4—3IHR vy y—F 30-12-25
m 3 10.10 25, 400. 00 256, 540
aVH ) — MTE (— V8 Ry J&E
m 3 10. 00 3,848.00 38, 480
& it YEZEREN 0 10.00m 3 29, 502. 00 295, 020
ES:29
& I—T 4 VT 100m2HY
% b R - KT BT 2 B O{f 2 H %
W=D 4 U TEER
m2 100. 00 556. 00 55, 600
B AR AR
m2 120.00 32.00 3, 840
L) ®iE
m 3 5.00 3, 300. 00 16, 500
& B YEZERES : 100.00m 2 759. 00 75, 940




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&E5:30
275 SRR ISE 100m2 %Y
£ b3 B - BIKTE =-Fiv] = fili ] w =
B PR R IH SR (— Y U EE) g L—oikE
m2 100. 00 2,448.00 244, 800
STFL—rbL—r A AR ER) GRS J&) 16tH
H 0.30 38, 400. 00 11,520(8H
& &t EZEEA : 100. 00m 2 2,563.00 256, 320
&S 31
&% NEHEL 100m2 %Y
% b R - KT BT H = i 2 H %
AEZE (r—Y D E1E) yL—tkE
m2 100. 00 2,019.00 201, 900
STFL—2hL—r A AR ER) ChEffE > J&)16tH
H 0.30 38, 400. 00 11,520(8H
& &t EZHEH : 100.00m 2 2,134.00 213, 420
EBES 32
&% $kEFINIT#EST D13 1000k g Y
% b R - KT BT H = i 2 H %
85 (B2H) SD345 D13
k g 1,030. 00 107.00 110, 210
SAAN TN (r—Y U 8E) yL—rtkE
k g 1,000. 00 72.80 72, 800
STFL—29L—r A AR ER) ChEfE > T8 16tH
H 0.20 38, 400. 00 7,680|8H
& it YEZEREN 0 1,000.00k g 190. 00 190, 690

10




R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&5 :33
B ¥ SKARANTHASI D16 1000k g4V
£ b3 B - BIKTE =-Fiv] = B i ] w =
% (2H) SD345 D16
kg 1,030. 00 105. 00 108, 150
BAMIMAL (r— 8k g L—oikE
kg 1, 000. 00 72.80 72, 800
STFL—rbL—r A AR ER) GRS J&) 16tH
H 0.20 38, 400. 00 7,680|8H
& &t YEEHEH :1,000.00k g 188. 00 188, 630
BES: 34
2% $kEFINIT#AST D19 1000k g4 Y
£ b R - KT BT H = B ff 2 H %
85 (B2H) SD345 D19
kg 1,030. 00 105. 00 108, 150
SAAN TN (r—Y U 8E) yL—tkE
kg 1, 000. 00 72.80 72, 800
STFL—2hL—r A AR ER) ChEffE > J&)16tH
H 0.20 38, 400. 00 7,680|8H
& &t EZEREH :1,000.00k g 188. 00 188, 630
H5:3
2 BEMIMIL D22 1000k g4 Y
% L] g - BIRTiE ==Rivi #H = i B8 g &
85 (B2H) SD345 D22
k g 1,030. 00 105.00 108, 150
SAAN TN (r—Y U 8E) yL—rtkE
k g 1,000. 00 72.80 72, 800
STFL—29L—r A AR ER) ChEfE > T8 16tH
H 0.20 38, 400. 00 7,680|8H
& it YEZEREN 0 1,000.00k g 188.00 188, 630
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R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&5 :36
B BEKXRTF  85D22 &7
£ [ R - KT B B =2 B {f € ® w =
R EF
& 1.00 3,500. 00 3, 500
MFEHET D22
[Elzin 1.00 1, 500. 00 1,500
& Hi 1EZBEA - 1. 006 PR 5, 000. 00 5, 000
&5 .37
2% BhEERl KT RXHE (VYY) kg (1kg)
£ b B - BIKTE B B = B ff * % H %
SkARBR R KEZRFIHE (Vv —)
kg 1.00 1, 530. 00 1,530
& it 1EZHES - 1.00kg 1, 530. 00 1,530
%= .38
¥ BhEEFIER 1BH#Y (4m2)
£ b B - BIKTE B B = B ff * % H %
HEEE
A 0.50 28, 910. 00 14, 455
LEEXE
A 2.00 23, 090. 00 46, 180
MM 2{KDY%
% 20.00 60, 635.00 12,1217
& B 1E%8EH : 4.00m 2 18,190. 00 72,762
H5:39
B R - B/N— 1REY
£ L] R - KT BT B = B {f € ¥ g &
BERAR - m/N\— &
X 1.00 41, 900. 00 41,900
= it YE¥HEH 1. 00K 41, 900. 00 41,900
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R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&ES 40
¥ REkAR - A/N\—HENL 1000k g4 Y
£ b3 B - BIKTE =-Fiv] = B i ] w =
mEkAR - m/N—HAaL A7 Z50mm~80mmKiEH Y L— k=
kg 1, 000. 00 66. 56 66, 560
STFL—rbL—r A AR ER) GRS J&) 16tH
H 0.20 38, 400. 00 7,680|8H
& Hi E%8H :1,000.00k g 74.00 74, 240
ES M
& A B ARSI S 100m2=1
% b R - KT BT H = B O{f 2 H %
BRI B AENT AR SN (— Y 2 BME) yL—tkE
m2 100. 00 5,562.00 556, 200
STFL—2hL—r A AR ER) ChEffE > J&)16tH
H 0.40 38, 400. 00 15, 360|8H
& &t EZHEH : 100.00m 2 5, 715. 00 571, 560
BES 42
&¥ a0 )—MTR 10m3HY
% b R - KT BT H = B O{f 2 H %
LF4—3IHR vy y—F 30-12-25
m 3 10.10 25, 400. 00 256, 540
aVH ) — MTE (— V8 Ry J&E
m 3 10.00 3, 848.00 38, 480
& it YEZERESN : 10.00m 3 29, 502.00 295, 020
= : 43
B B Tm3%HY
% L] g - BIRTiE ==Rivi #H = i B8 g &
it
m 3 1.000 122.17 122.17
= B EEREN :1.00m 3 122.17 122.17
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R &I/ \vr—2

MR TEEBF(EHAMRBOER (F3IR)AAKIE

&S .44
B EIERRE TE-42UCIRE 14y
£ [ R - KT B B =2 B {f £ w =
MBIEERE
= 1.00 45, 000. 00 45,000
& B 1EZRERN  1.00K 45, 000. 00 45, 000
&S5 .45
&% AREIRAE 14y
4 b R - KT B H = B i £ H %
HREIMAET
= 1.00 100, 000. 00 100, 000
& it 1E%8ERH : 1.00=C 100, 000. 00 100, 000
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Hifi&

MR TEEBF(EHAMRBOER (F3IR)AAKIE

HERES 1

BlREM : S7TL—29L—r HEAARER) ChEdiES I8 16tH 1B4Y 8H
£ 5 1R - KTk B % 2 -] & #E B & &

BH (SI7FL—2vHL—r [HEBEY |16tH

7 =] 1.00 38, 400. 00 38, 400

& it 38, 400




